" @rewiimd @en_Liumen CQungs Caiey - 2022

R TSI aEGLUIL ey e[| 0|7
& 60t 5 LD
Crud : 3.00 wesf ugd - sl niQueksst : 100
l. sflurer aflsn_mws Cain@sBia ayas. 14x1=14
1. 2x + 3y = k eeuser iy (2, 3) oafled, k Pear wdion s anesta.
a) 12 b) 6 c) 0 d) 13
2. &paarsmuaraupiied ag Crflu swaun® siede?
a) ax+by+c=0 b)Ox+0y+c=0
L) Ox+by+c=0 - dyax+0y+c=0

3. £pasaggd Cuflu soatuNBsEnéE aumyumasie) asHeE £ray Seienes?

o X oA b 77 e / d) 2] 3
\\ & 5 i "
3 3 o i RE]

W m ¢

EI h]. -
4, ;:-':E'; nnﬁﬂ.,ﬁlrﬁ{531x+h1y+c1 zumﬁgﬁaﬁ*bﬂ+cz=ﬂiﬁ1%h

soaLHSEH&S -
a) Sy Bedewes b)) Bren® Sreysen c) e Loy d) eesenhp frama
5. o Bamamsrgden o aGanemmian 90° aafls) sits Boanant oo
a) snlsgmb P Cleaeaso c) sfleumin d) e
6. O eneu emowwonss Qarmie sl LsHsd sufapaia premiast PQ wogus RS Cuognb
£P0OQ = 70° aefiled LORS =

a) 60° ) 70°  ¢)55° d) 80°
7. symb 25 Qed e e e gflen emowsDeiimiz 15 Gl grgHed e ser paenficr Semd
2 250 b) 20 Qeud c) 40 Qmf d) 18 Qes

8. uLsfed ale muwd O wpgd LACB = 40°aaflsd £AOB =

a) 80° b) 85°
c) 70° d) 65°
8. gm ymele y siFss Qgrmeay wflub aafled sy auClungpgb Sienugs,
a) (pgwnd snnLeEufled b) Bremrms anpugBuied
c) x-spfen By d) y-sisflen Ly



(3) IX serfisid
ugd - B
N, aemaCugb 10 dlambsmi BenL_weh. (eflemn mewt 42 &MU cillemn ) 10x5=50
29, Piaa 2x -3y =T, Ex +y=9
30 fhéa oy —y=3 xey=7
3. ool Cu@sa (penpEmLILI LuauGaH Srey snea : 3X - 4y =10, 4x+ 3y = 5. -
32. ABCD manp sut mrphsTE@ed <A = (4y+20), £B = (3y-5)%, £C = (4x)° wDQ

/D = (Ta+5)° nefiled Bren (S METIIS ETETIL|LD 87600 8.

33, gymb 15 Qlaf e_snen aul_ L ghes eninwsBeiimhe 12 Gl Glanensosiiel ST 5 uat e
e anenis,

34, uLgBed X° et wHlmus SnnewTs,

£ . )
5,

35, Car@astulGoer ugde O perg O ST ¥
au L enmowid, ZOQR = 4B° qefled [/ ‘,J'
ZP e symey eenen’? N— s

36, e L gmau Surpuss G Lyerell syemuniyiD Hensoemiul LLib QuenThs cllsEs.
Wﬁvm@ﬁ Lot afilsemem gy WSl mnameds gengdes @las, aflanslis Siunenn Fenern &S0
L LT mfﬁlm -‘—!E:‘u'.h -hll_ﬁ@lﬂ? E.ﬂ-n:ll {_'4'-UL {_‘1411 {ul'_d}
- -2y (5.1) (3.4) sy Lsheflast gm Carsmoud Lsiafimenn eem Sy Tmls.
38 yereflash A(=1,1), B(1,3) wpgub C(3,3) Gogud AB = BC aefled, "a" &t ndlumus Srems.
40, ysheflasir (1,2), (3.—4) wppud (5 —6) e auifls Glasdguib s L_glen enwowi (11 ,2) mem Hnyeys.
41 A(T.3) wopib X sipdler Sg semoks yenefl B eft X miFas Ggneneoay 11 aafed AE St
Cignencoeneus snees.
42 Meseunid et aflaeme sniiedlwes gmsded @iléa b Bmamagy dmiase
quin Fudengl LhBl nepss: {(-5,3) (-1,3) (0,3) (5.3)
ugd - = :
IV, syenemg g eflemns sgms o aflen_weildaays. 2x8=18
43 a) PQ=60a8, £Q = 60° uogue QR = 7 Qe semeysimend Qamemn_ APOR aumarsy
s @EEEtar B emoub snes. (et aigy)
b)) 6.5 Qb uss senaseneni Clanse suLss (pACaneETD CUMTS. SpbapAGsTaT s
@wﬁﬂnm_@ SODILD SResEa.
44 a) GEeILES Caflu swamunBa@as ampLid ppeoid iy arems.
x+y=52x-y=4 (v g
h) y=2x+1, A+ 2y =2 w;m@;ﬂﬁawmw,ﬁmnﬁn

b

Q'

\ 0
S



